

(A GOVERNMENT OF WEST BENGAL UNDERTAKING)

"PROTITI", 23, Abanindranath Thakur Sarani (Camac Street), Kolkata-700017 Phone: + 91 33 2255 3700-705 Fax: + 91 33 2255 3737 Email : wbidc@wbidc.com Web : www.wbidc.com Corporate Identity Number: U75142WB1967SGC026988

#### NOTICE INVITING TENDER

Notice Inviting Tender no: - WBIDC/IP/SLPN/Restaurant area /1640 Date: 22.02.2022

Sealed Tenders are invited by the Managing Director, West Bengal Industrial Development Corporation from reputed and reliable contractor for the work **"Miscellaneous repairing work in Shilpangan, under WBIDC, LB-I, Sector-III, Salt Lake, Kolkata-700098"** having following item of works.

						unt
Ordinary Cement concrete (mix 1:1.5:3) with graded stone chips (20 mm nominal size) excluding shuttering and reinforcement, if any, in ground floor as per relevant IS codes.						
Pakur variety	Cu.M.	27.84	Rs.	6,007.35	Rs.	167,244.62
Single Brick Flat Soling of picked jhama bricks including ramming and dressing bed to proper level and filling joints with local sand.	Sq.M.	360.70	Rs.	358.00	Rs.	129,130.60
Stripping off worn out plaster and raking out joints of wall, ceiling etc. upto any height and any floor including removing rubbish within a lead of 75 m						
	Sq.M.	25.60	Rs.	19.00	Rs.	486.40
sand and cement mortar including rounding off or chamfering corners as directed and raking out joints including throating, nosing and drip course, scaffolding/staging where necessary (Ground floor) (Excluding cost of chipping over concrete surface)						
(ii) a) with 1:6 cement mortar 20 mm thick plaster	Sq M	25.60		175.00	Rs.	4,480.00
Reinforcement for reinforced concrete work in all sorts of structures including distribution bars, stirrups, binderss etc initial straightening and removed of loose rust (if necessary), cutting to						
	nominal size) excluding shuttering and reinforcement, if any, in ground floor as per relevant IS codes. Pakur variety Single Brick Flat Soling of picked jhama bricks including ramming and dressing bed to proper level and filling joints with local sand. Stripping off worn out plaster and raking out joints of wall, ceiling etc. upto any height and any floor including removing rubbish within a lead of 75 m as directed. Plaster (to wall, floor, ceiling etc) with sand and cement mortar including rounding off or chamfering corners as directed and raking out joints including throating, nosing and drip course, scaffolding/staging where necessary (Ground floor) (Excluding cost of chipping over concrete surface) (ii) a) with 1:6 cement mortar 20 mm thick plaster Reinforcement for reinforced concrete work in all sorts of structures including distribution bars, stirrups, binderss etc initial straightening and removed of	nominal size) excluding shuttering and reinforcement, if any, in ground floor as per relevant IS codes.Image: Cu.M.Pakur varietyCu.M.Single Brick Flat Soling of picked jhama bricks including ramming and dressing bed to proper level and filling joints with local sand.Sq.M.Stripping off worn out plaster and raking out joints of wall, ceiling etc. upto any height and any floor including removing rubbish within a lead of 75 m as directed.Sq.M.Plaster (to wall, floor, ceiling etc) with sand and cement mortar including rounding off or chamfering corners as directed and raking out joints including throating, nosing and drip course, scaffolding/staging where necessary (Ground floor) (Excluding cost of chipping over concrete surface)Sq.M.(ii) a) with 1:6 cement mortar 20 mm thick plasterSq MReinforcement for reinforced concrete work in all sorts of structures including distribution bars, stirrups, binderss etc initial straightening and removed ofSq M	nominal size) excluding shuttering and reinforcement, if any, in ground floor as per relevant IS codes.Image: Cu.M.Pakur varietyCu.M.27.84Single Brick Flat Soling of picked jhama bricks including ramming and dressing bed to proper level and filling joints with local sand.Sq.M.360.70Stripping off worn out plaster and raking out joints of wall, ceiling etc. upto any height and any floor including removing rubbish within a lead of 75 m as directed.Sq.M.25.60Plaster (to wall, floor, ceiling etc) with sand and cement mortar including rounding off or chamfering corners as directed and raking out joints including throating, nosing and drip course, scaffolding/staging where necessary (Ground floor) (Excluding cost of chipping over concrete surface)Sq M(ii) a) with 1:6 cement mortar 20 mm thick plasterSq M25.60Reinforcement for reinforced concrete work in all sorts of structures including distribution bars, stirrups, binderss etc initial straightening and removed ofSq M	nominal size) excluding shuttering and reinforcement, if any, in ground floor as per relevant IS codes.Image: constraint of the system of	nominal size) excluding shuttering and reinforcement, if any, in ground floor as per relevant IS codes.Image: Cu.M.27.84Rs.6,007.35Pakur varietyCu.M.27.84Rs.6,007.35Single Brick Flat Soling of picked jhama bricks including ramming and dressing bed to proper level and filling joints with local sand.Sq.M.360.70Rs.358.00Stripping off worn out plaster and raking out joints of wall, ceiling etc. upto any height and any floor including removing rubbish within a lead of 75 m as directed.Sq.M.25.60Rs.19.00Plaster (to wall, floor, ceiling etc) with sand and cement mortar including rounding off or chamfering corners as directed and raking out joints including throating, nosing and drip course, scaffolding/staging where necessary (Ground floor) (Excluding cost of 	nominal size) excluding shuttering and reinforcement, if any, in ground floor as per relevant IS codes.Image: constant of the second sec



(A GOVERNMENT OF WEST BENGAL UNDERTAKING)

"PROTITI", 23, Abanindranath Thakur Sarani (Camac Street), Kolkata-700017

Phone: + 91 33 2255 3700-705 Fax: + 91 33 2255 3737

Email : wbidc@wbidc.com Web : www.wbidc.com

Corporate Identity Number: U75142WB1967SGC026988

8	over the netting all round welded to angle iron frame and providing locking arrangements if necessary and with two coats of synthetic enamel paint(Other than Hi-gloss) fitted and fixed with	Sq.M.	18.00	Rs.	1,499.00	Rs.	26,982.00
	50mmx4.5mmx2.7mm on 50mm x 50mm x 6mm old angle iron frames all round and one 37.5mm x 6mm M.S. flat bar						
	Renewing IRC fabric mesh of 75mm x	Sq.M.	16.50	Rs.	438.00	Rs.	7,227.00
	with 150 mm. end lap & 50 mm minimum side lap complete. In wall: with 0.63 mm. sheets.	C. M	16 50		428.00	D-	<b>7 22</b> 7 00
	and nuts, sheet-bolts, limpet and bitumen washers and putty						
	framework) fitted and fixed with 6 mm. dia J or L hook-bolts						
07	Engineer-In-Charge. Galvanised plain sheet works (excluding supporting						
	(a) 25 mm to 30 mm thick wooden shuttering as per decision & direction of	Sq.M.	2.70		335.00	Rs.	904.50
	fitting, fixing and striking out after completion of works (upto roof of ground floor)						
	thickness with required bracing for concrete slabs, beams and columns, lintels curved or straight including						
	and thick hard wood planks of approved						
	with centering and necessary staging upto 4 m using approved stout props						
06	<ul><li>(i) Other manufacturers not specified</li><li>Hire and labour charges for shuttering</li></ul>	MT	0.05	Rs.	53,092.60	Rs.	2,654.63
a)	For works in foundation, basement and upto roof of ground floor/upto 4 m.						
	black anneated wire at every intersection, complete as per drawing and direction.						
	requisite length.hooking and bending to correct shape, placing in proper position and binding with 16 gauge						



(A GOVERNMENT OF WEST BENGAL UNDERTAKING)

"PROTITI", 23, Abanindranath Thakur Sarani (Camac Street), Kolkata-700017

Phone: + 91 33 2255 3700-705 Fax: + 91 33 2255 3737

Email : wbidc@wbidc.com Web : www.wbidc.com

Corporate Identity Number: U75142WB1967SGC026988

	Total (Excluding GST and LWC)					Rs.	360,237.38
11	Providing Rain water harvesting system complete in all respect as per enclosed drawing & also as per direction of Departmental Engineer.	Each	4	Rs.	5,198.00	Rs.	20,792.00
10	Filling in foundation or plinth by silver sand in layers not exceeding 150 mm as directed and consolidating the same by thorough saturation with water, ramming complete including the cost of supply of sand. (payment to be made on measurement of finished quantity)	Cu.M.	0.288	Rs.	936.21	Rs.	269.63
9	Taking out and refixing wire netted frames or shutters including providing new screws.	Sq.M.	2.00	Rs.	33.00	Rs.	66.00
	clamps or haskal doomney etc. complete including flat stiffeners on every 1.0 m apart both ways. Cost of Concrete for fixing will be paid separately)						

Rupees in wards:- Three lakhs sixty thousand two hundred thirty seven only

Date of publication of tender: 23/02/2022 by 10.00 A.M,

**Bid submission start date:** 24/02/2022 by 10.00 A.M onward up to 5:00 P.M. every day only on working days.

Last date of submission of bid: 02/03/2022 by 5.00 P.M

**Date of opening of quotation:** 03/03/2022 at 11.00 AM.



(A GOVERNMENT OF WEST BENGAL UNDERTAKING)

"PROTITI", 23, Abanindranath Thakur Sarani (Camac Street), Kolkata-700017 Phone: + 91 33 2255 3700-705 Fax: + 91 33 2255 3737 Email : wbidc@wbidc.com Web : www.wbidc.com Corporate Identity Number: U75142WB1967SGC026988

#### Terms and Conditions.

1. The quotation to be submitted in sealed envelope in the drop box kept in the office of WBIDC i.e PRATITI Building, 23, Abanindranath Thakur Sarani, (Camac street), Kolkata – 700017. The envelop should be superscribed as **"Miscellaneous repairing work in Shilpangan, under WBIDC, LB-I, Sector-III, Salt Lake, Kolkata-700098"** and should contain the name and address of the quotationer.

2. The quotationer will have to submit the following documents along with the quotation.

a) Self –attested photo copy of valid GST registration certificate.

b) Self attested photocopy of valid Trade license

c) Self-attested photocopy of PAN card.

d) Credential of execution of same kind of work.

Quotations received without the above mentioned documents will be summarily rejected.

3) The bidder quoting the lowest rates, if all other conditions are satisfied, may be issued to work contract.

4. The quoted price should be excluding of **GST** as applicable. **GST** will be paid separately.

5. No mobilization charges shall be considered against the above work either separately or inclusive with the quoted rate.

6. The work, mentioned above, to be completed successfully and full satisfaction of the departmental engineer within **01 (one)** month from the date of issuance of work order, and the **Defect Liability Period** for this work is **1 year** after completion of this work in all respect.

7. Other Statutory deduction towards IT etc. or as applicable will be deducted from the bill / bills.

8. Payment will be made only after successful completion of the work in all respect and security deposit @ 3% will be deducted from bill.

9. Security deposit will be refunded after completion of Defect Liability Period of 1 year.

10. All payment will be made in account payee cheque / direct bank transfer only.

11. The participant in the quotation process may remain present personally or may send their authorized representative during opening of their quotations.

12. Submission of quotation will imply that the quotationer will abide by all the terms and conditions of this "Notice Inviting Tender".



(A GOVERNMENT OF WEST BENGAL UNDERTAKING)

"PROTITI", 23, Abanindranath Thakur Sarani (Camac Street), Kolkata-700017

Phone: + 91 33 2255 3700-705 Fax: + 91 33 2255 3737 Email : wbidc@wbidc.com Web : www.wbidc.com Corporate Identity Number: U75142WB1967SGC026988

13. Contractor shall have to arrange all materials and machineries required for the job. No material will be issued by the department.

14. The bidder/ quotationer will sign on every page of N.I.T as a token of acceptance of the terms and condition.

15. Conditional quotation will not be accepted and shall be deemed as "informal"

16. In case of any dispute arise during execution of the work or after completion of the work, Managing Director, WBIDCL reserves the right to accept / cancel/ change/ modify this notice completely or partially without giving any notice to anybody.

By order,

Managing Director WBIDC

wbidc

(A GOVERNMENT OF WEST BENGAL UNDERTAKING)

"PROTITI", 23, Abanindranath Thakur Sarani (Camac Street), Kolkata-700017

Phone: + 91 33 2255 3700-705 Fax: + 91 33 2255 3737 Email : wbidc@wbidc.com Web : www.wbidc.com Corporate Identity Number: U75142WB1967SGC026988

Name, Address, Contact No. of Bidder (Filled by the bidder):

#### ANNEXTURE.

Schedule for the work "Miscellaneous repairing work in Shilpangan, under WBIDC, LB-I, Sector-III, Salt Lake, Kolkata-700098."

Ref: - N. I. T. No. WBIDC/IP/SLPN/Restaurant area/1640

Date: 22.02.2022

SI no	Name of the Work.	Quantity.	Rate to be quoted in percentage over the estimated amount (in figure)	Rate to be quoted in percentage over the estimated amount (in words)
1.	Miscellaneous repairing work in Shilpangan, under WBIDC, LB-I, Sector-III, Salt Lake, Kolkata-700098.	One complete item of work consisting item no. 1 to 11 of priced schedule.		

Rupees in words (For office use only):-

Name with signature and seal

by the quotationer